ex) 3% logyo X =0.4771

x=30

log;o X = 10g;3'%° =10010g,, 3= 47.71

47 < |Og]_0X <48
47 = 47'0910]_0: IOglO 1047 8

log;010%7 <logq X < log;10%®
y =logg X
10%7 <x <10%®
X
102 < x <10°
x 100 999 3
100
999 1000
logoXx=47.71 ... ®

)
*
x = 104771 =100.71 4047
1= 100 < 100.71 < 10]_ =10
1047 100.71 1 100'71

log;p3=0.4771
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1004771 =3

3 =10%4771 < 10071 10071
10

10g;92 =0.3010
10
|Oglo4 =2 |Oglo2 =0.6020

log;p8 =3100;92 =0.9030,109109 = 2109103 =0.9542
logg 6= 10g1p2+10g;93=10.7781
loggd5 ...

|09105 = |Oglol70 = Ioglo 10- IOglO 2=0.6990

log;g7 =0.8451
10 7
100.71
5= 100.6990 < 100.71 < 100.7881 =6 5000
1<10° <10 10<104"* <100 1071
try
100.71

100.71

2>33
10
IOglO 54= IOglO 2+3 IOglo3- |0g1010 =0.7323>0.71

54=

10g10 5= 0.6990, log;( 5.4 = 0.7323
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log;05.12 = log, 2° - log;(10% =0.709

071

512 =1007%9 < 10071 < 1007323 =5 4

5.1=4/26.01 <27 =3/3=5.196
log,,/27 = glog10 3=0.71565

10071565 =5 196

5.12 = 100.709 < 100.71 < 100.71565 =5196

3100 _ (3425
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J48 <7 <450
1 1
10g;0+/48 = log 243 =5 (410g; 2+ l0g; 3) =0.84055

1 10°
IOglo'\/% :—2 |OgloT

0.84055 < logy 7 < 0.8455

7 =4/2400 42400 =6.9993

logy 42400 :% logyq 2° 810° :%(3 10g;0 2+ l0g; o 3+2) = 0.845025

:%(2 10g;010- log;g 2) =0.8455

logyp 7=0.8451

3100 = (10. 7)100

100
- é 10K (- 7)100-k
k=0
= 7100 100C1 X057%0 4105 C X0 X798 +L L - 159Cg940% 7 +101%°
= 719°+1000(- 7° +5x09x7%° - L L +10°)
=(2401)%° +1000( - 7°° +495x7%8 - L L +10%")

100.71 /

aat+ho

f@@1b 0, T(a)+ T(b) f(a)+f(b)
e 2 g 2 2

Tfx)=logiex
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log, 5.0+ log; (5.4

2

= 0.71565

0.71<0.71565 < log; 5.2

1071 51

23" (1 mn 10
2537 =69984 70000
logig7 =5logp2+710g;p3- 4=0.8447

1 1 1
log 11 = 2 log (121 2 log,(120 = E( 2logyp2 +10g;o3+1) =1.03955

logp13 log,

log,2'° =1024 10°

X =logp2,y

1296
100

22x® =972 10°
29x3® =10077696 107

243

=100

102

logpl1 =1.0414,10g;13 = 1.1139

logp2 = 0.3333
= logp3

2x+5y=3
Ix+9y=7

-8 0.296,y =18 s
27 27
z =logp7
253" =69984 7x10% 5x+7y=z+4
20=1024 1029 = 3x7° 10x=y+3z

73

129

X = 6 _ 0.3007,y = —=04771,z=—=0.8431
153 153 153

= 4'09102 +4|09103' 2=1.1124
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1 2 4 8 16 32 64 128 256 5120 1024
3 § 12 24 48 96 192 384 768] 153 3072
9 18 36 72 144 288 5760 1152 2304 460 9216
27, 54 108 216 432 864l 172 3456 6912 13824 27648
81 162 324 648 1296 25921 5184  10368| 20736 41472 82944
243 486 972 1944 3888  7776] 15557  31104| 62208| 12441 248832
729 1458 291 5832  11664| 23328| 46656  93312| 186624 373249 746496
2187 4374 8749 17496 34992| 69984 139968 279936( 559872 1119744 2239488
6561  13122| 26244 52488 104976] 209952 419904 839808 1679616| 3350232 6718464
19683  39366| 78737 157464 314928 629856 1259712 2519424 5038848| 10077694 20155392
50049| 118098 236196 472392 944784 1889568 3779136 7558272| 15116544 30233084 60466176
Tt
J10 316 10%°



wln

n< 315=

2
X
p® >3.14° =9.8506 > 9.8 = 217

1049.56 < p100 < 1049.83

24x3° =314928 p” 10°

logigp<2l0gyg3+100:97- 10g;92- 1= 0.4983

logyo p >%(IoglO 2+2log,q 7- 1) =0.4956

logigp 4logig2+910g:g3- 5=0.4979

loggp 0.4971

logyp2 = 0.3010

29996 — 103009.1

50° % 365" 24° 60" 60=1051200000 10°

E =klogR
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